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S-S M1

g SAIIYRY
el SA01Y B8 3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 420,000 290,000 130,000
02 2B YA HE L 420,000 290,000 130,000
Ol 85)1d SEAME(Z IHE At)
420,000,000 420,000
oI N A 40,500 163,800 123,300
=S 40,500
307 elztol & 40,500 163,800 A123,300
= 40,500
02 LB AANHEE 40,500 163,800 A123,300
OxdY ARFEL OIS KN2A
18,000,000 18,000
& 18,000
OxdY EIXT S 2ME Hels KA
22,500,000 22,500
== 22,500
SaJY NS (HEAY) 1,020,491 1,320,564 A300,073
== 150,000
Al 870,491
307 212+01& 840,000 1,140,000 A300,000
< 150,000
Al 690,000
02 LB HAHE L 240,000 240,000 0
Odgd 24| SEAY
80,000,000 *3JH 2 240,000
= 150,000
Al 90,000
08 OIXt2d= 600,000 900,000 A300,000
OS2I 54 8it= 0I2d
600,000,000 600,000
308 XXM SOIA 180,491 180,564 AT3
07 AX L= 180,491 180,564 AT3
Ot S0 |F4JI5 F&=
180,490, 1692 180,491
NS WYY A FEAS 612,200 0 612,200
= 200,000
Al 412,200
201 fer= 3| 2,200 2,200
01 At 2|l 200 200
OFZAl HIXIIGHE &AA BHE SI| =
=2 200,000 200
2 35244l 2,000 0 2,000
OZ Al HIXIIEHH FAl2eld
2,000,000& 2,000
307 el2to| & 600,000 0 600,000
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< 200,000
Al 400,000
02 2IZHB A E £ 600,000 0 600,000
O X2 HXMENH Sa 600,000
—22R7 MY (YT S)
370,000,000 370,000
=S 100,000
Al 270,000
~2SNY MY (ZADIS HIZHE S)
130,000,000 130,000
S 50,000
Al 80,000
— Y23 ALY (Haadst XY iz 8)
100,000,000 100,000
=S 50,000
Al 50,000
406 JIEFXH=0I M 10,000 0 10,000
01 JIEtAH=201H 10,000 0 10,000
OBLA HHIIQME BHZ B
10,000,000& 10,000
AHHER 29 X3 59,200 28,920 30,280
201 er2 3| 2,000 2,000 0
01 AtR2telHl 2,000 2,000 0
OuHE =AU
2,000 *1,0002 2,000
202 04| 2,200 1,920 280
01 =LHOLI 2,200 1,920 280
OSESE € &gl ¢2 =8
10,0002 «553| x4 2,200
401 Al HIZL 01| 55,000 25,000 30,000
01 Al&HI 55,000 25,000 30,000
OMHET =2 =28 2 FH|
10,000,000 *59H 2= 50,000
OLHE Al erLizhet FH|
5,000,000& 12 5,000
KAl ot MIE HE 4,006,000 9,235,000 A5,229,000
= 2,007,000
Al 1,909,000
401 Al HIZL 201 4,006,000 9,215,000 /5,209,000
= 2,097,000
Al 1,909,000
01 Al&H| 4,006,000 9,192,000 A5,186,000
OZ A AMES KNAMSHEH HE
4,006,000,000& 4,006,000
[ 2,097,000
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A ZA)|PSY
ol SAJ|Y FEE 25 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 1,909,000
ADESH 235tk 360,000 495,000 A135,000
308 XX XIS O & 360,000 495,000 A135,000
13 DI ZSUHBA A=A L] 360,000 495,000 £135,000
OADIEZE 23 - 24 AIY(VIETFXIA
Ated) (30,000,000+67H )+(60,000,000%37H ) 360,000
SAHKOIY OH) ddeisal 218 X2 7,974,875 7,974,875
401 Al&HI 2 S OHY| 7,974,875 7,974,875
01 Al&H| 7,974,875 7,974,875
OBAHIIY (O12)HLeisa A8 =X
oHe 7,974,875,0002 7,974,875
ZY AT SHHE Test-Bed PH 595,000 560,000 35,000
306 2013 595,000 560,000 35,000
01 £43 595,000 560,000 35,000
OZY 24T SEAH Test-Bed 7E(=204
ESESPUEDNE=) 595,000, 0002 * 14! 595,000
AT HE 452,340 701,840 249,500
2 40,000
Al 412,340
A A2 412,340 651,840 £239,500
201 LEre | 20,060 19,560 500
01 ArR22H| 7,560 7,560 0
Oget42H| 6.000
—RIELE CSAGA AERY (YR
g) 4,000,000 14! 4,000
—~LAIIEEE S S50 MR
100, 00024 *504 431 2,000
O=EL:] 1,560
—L AR Y2XT S|
520,000 3% 1,560
2 BT 2| 12,500 12,000 500
O2ZNEESRI2 ALY R (1Y 2
4,000,000+ 13l 4,000
OIZNBH=X2 M3S AILS FIIOHN
LA $22 2,000,000 23] 4,000
OZ2NEE=N2 AUBIIE 55, 24
2 1,000,0008!+13] 1,000
OZ2NE=N2 AUB)| 5 40 55
=3, 24 89 1,000,0008!+13] 1,000
OZZXEY=NZ ¢ AS B
300, 0002 #53] 1,500
OBYZUEALI|SERME LUHZIIE
=3 24 29 1,000,0008!+13] 1,000
202 Ot 4,000 4,000
01 2ot 4,000 4,000
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LR ISTEER
ol MBS FH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Owsthl seze = 2exd
3,000,000& 3,000
OAt2te HRus & HE
1,000,000 1,000
301 22N = 1,280 1,280
11 AALREIXIES 1,280 1,280
O AHEAHLH ES) 2t 2E3
8,000 x10 *2JH 2=+23] 320
O=AIZE s 29 960
—A2IEE S 22
8,000 x20H *23] 320
—LCAIIEAMRES 32
8,0002x20& *43] 640
307 lztol & 287,000 277,000 10,000
02 2B YA HE L 287,000 277,000 10,000
OLrdEst AE AT SHOHS S
30,000,000& *13] 30,000
O-Saga 2 (2H4)
40,000,000 *2JH 2 80,000
ORgHIZ2A =W &K Ast
12,000,000& *13] 12,000
OZIIZ2x 2HI2ZZX H& “AI2SHHE
o2l A== 20,000,000& *13] 20,000
OZSHEALE 22X} teH&lA
5,000,000& 12 5,000
OSHEAL 22X} JVIsed nISSeAY
140,000,000 *14] 140,000
401 Al HIZ 2018 100,000 350,000 250,000
01 Al&H| 100,000 350,000 250,000
OZZANEE=EX2 == AIZ= EHl SA
100,000,000 *14] 100,000
NS AR S ot AR A 40,000 50,000 10,000
= 40,000
307 elztol & 40,000 50,000 10,000
= 40,000
02 LB AANHEE 40,000 50,000 10,000
OXS Atld g5 245 N (D8
LS S2AH) 40,000,000 40,000
= 40,000




